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Ol AMELAEEN=E 503,498
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02 2223H| 26,502 18,000 8,502
LAl & &l = X gl 26,502
O HSHHI R E 10,000
Ou=ss8JIMMAXE= 16,502
3083 Z&= 17,160 13,700 3,460
01 Za3 17,160 13,700 3,460
OXXEsSFSAEAlA 9,560
O E XAl & 7,600
HY2HZU(SRALSH)(JIEH/IIE 2,679,639 3,125,588 AN445,949
o3 2| 2,410,069 2,790,228 A 380,159
oI 2| 2,410,069 2,790,228 A 380,159
101 Q1 H| 2,306,209 2,667,468 A 361,259
01 = 2,065,404 2,494,370 A 428,966
I=as 1,299,526
Od=H 313,249
-32 67,877,000& x2& 135,754
-4 59,165,000& *3H 177,495
Os=H 986,277
-53(30238) 2,961,300 x11HE 123 390,892
-62(2088) 2,290,8002 *10H 123 274,896
-732(1288) 1,715,600 *4H 123 82,349
-Jls62(3188) 2,595,300& 3 «12& 93,431
-Jls72(2558) 2,223,100&*4H «12& 106,709
-Jls832(1388) 1,5683,300& x2H x12& 38,000
(IP=g 0= 82,190
(OFSFmf =y 986,277,000 x1/12 82,190
O=% 265,683
OANzZte 2R 138,247
-HHE 8,312 *x36F «10A| 2+ 123 35,908
- ZME 8,312 x36H «25A| 2+ x 123 89,770
-EsSUSEYHA0RIZ2X
8,312 x 1G »30Al 2t+ 12 2,993
- ME X W
8,312 *x8A| 2+ +8 +90|+2H 9,576
OJtE=d 27,360
- i At 40,0003 x32Z x12& 15,360
- JIERFE 20,0003 x50 x12& 12,000
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- 208-~254 0| et 110,000& x4 H « 122 5,280
- 15801 &~20 01 8¢ 80,0003 x6E «12& 5,760
- 10801 &~154 018t 60,0003 x3E «12& 2,160
- 5801 &~10 0] 2t 50,0002 x»4H 122 2,400
Ofg2f=+4 1,440
-=235 40,000 x3H x12& 1,440
OREEsRaxE 50,0003 x4 EH 122 2,400
Oo=ssfas+e 9,232
-52i® 2,290,800% *4.8%*4H 123 5,279
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-Jl=EEsE 5,880
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-FHARAGEERE
650,000& x1H« 123 7,800
OE MG A 130,000& «39H 128 60,840
Ou S22 54,120
O4~53 140,000 11 » 128 18,480
O6~7= 130,000& 21 » 123 32,760
08=-~92 120,000 x2H »12& 2,880
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OFs=¢ 38,8503 x5 »52& 10,101
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